(Fall 2008) Ling 410/510: Linguistic Variation

FINAL WORKSHEET (due 12/10/08 by noon)


____ / 52 points total



Name:
I. REGIONAL VOWEL SHIFTS (20 points)
Using your knowledge of the three major vowel shifts in North American English (The Northern Cities Shift, the Southern Shift, and the Canadian/Californian Shift), answer the following problems.  When deciding locations of the speakers/listeners, use rough estimates (i.e., the South, the West, the Northern Cities, Canada, etc.).  In addition to vowel shifts, rely on other pronunciation differences discussed in class (i.e., Canadian raising of /ay/ and /aw/).  Also, assume that listeners interpret speech through their own phonological system (based on the way they would say it themselves) and that speakers have a fairly extreme accent in terms of the vowel shifts.  (If you would rather make up a misunderstanding yourself to show your knowledge of the vowel shifts involved, substitute #5 for either 2 or 3).
1.) (6 points) There are 3 people involved in this misunderstanding.  The speaker says the word ride.  One listener misunderstands the pronunciation of this word as rad and another as rod.

Where is the speaker most likely from and why? 
Where are the 2 listeners from and why?  (Give 2 different locations)

2.) (4 points) In this misunderstanding, a speaker utters the word couch and a listener mistakes it for coach.

Where is the speaker from and why?

Where is the listener NOT from (a different region than where the speaker is from) and why?

3.) (4 points) A speaker utters the word fate and a listener hears fight.


Where is the speaker from and why?


Where is the listener likely to be from (more than one right answer) and why?

4.) (6 points) A speaker utters the word bust and a listener hears boss.


Where is the speaker from and why?


Where might the listener be from (more than one option) and why?


What other factor is involved besides vowel shifting in this example?
5.) (4 points) MAKE UP YOUR OWN MISUNDERSTANDING USING A SPEAKER FROM ONE PLACE AND A LISTENER FROM ANOTHER (To substitute for #2 or #3 above or for 2 points extra credit):

II. ETHNICITY (6 points)
1.) (3 points) In African American Vernacular English (AAVE), 3rd person singular –s is sometimes omitted.  Give an example of this and state how this feature in AAVE is similar and different to/from other varieties of English.

2.)  (3 points) Another feature of AAVE involves final consonant cluster reduction (t/d deletion).  Give an example of this and state how this feature in AAVE is similar and different from other varieties of English (be sure to mention frequency and linguistic factors involved).

III. LANGUAGE CHANGE: AGE, CLASS AND SEX (12 points)
One of the changes identified in Philadelphia affects the vowel /ey/ in closed syllables (eyC) (as in the word date).  F1 measures the height of the vowel inversely, so that the larger the F1 numerical value, the lower the vowel is produced in the mouth.  Look at Figure 5.12 below.  

[image: image1.emf]400

500

600

700

< 30 30-39 40-49 50-59 60+

Age Group

F1 (eyC)


Figure 5.12 F1 (eyC) values by age group

1.)  (5 points) Based on the above graph, is the height of this vowel involved in language change?  Which direction is the change?  (Is the vowel raising or lowering?)  Also, since this is a single point in time (synchronic data not diachronic data), what is the name for an interpretation/analysis that would classify this as language change and what other interpretation besides language change is a possibility (be sure to discuss what it is)?
Now look at Figure 5.18 below which shows this variable for each sex by social class.
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Figure 5.18 F1 (eyC) values by SEC category sorted by sex
2.) (7 points) Describe the situation depicted in the chart above.  Include who has the most extreme variants in the direction of the change, as well as who is the most resistant to the change.  Also, does this picture of language change look like language change from below or language change from above and why?  In your discussion be sure to include information about sex of the speaker and what other studies have found with respect to language change and sex/gender.
IV. STYLE (14 points)
Figure 2 below is from Labov’s NYC study.  The higher the score on the (r) index, the more [r] a person produced.
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1.) (5 points) Describe the pattern that the above figure shows with respect to style and social class.  Include what term is used to describe the crossing of the LMC line with the UMC line and what this signifies (according to Labov).
2.) (1 point) What model of style analysis is show above (I just want you to name the model that these data represent).

3.) (5 points) In class, we listened to an upper middle class woman who produced 100%  -in’ [in] in a reading passage and a word list (as in bitin’ and fightin’).  Explain what is unusual about these findings (based on what other studies have found regarding style, sex and social class and this variable).
4.) (3 points) Still referring to the data presented in #3 above, how does knowing that the woman identifies as a butch lesbian (a very masculine woman) affect our interpretation of her linguistic behavior?  Include a discussion about the possible limitations of the model of style analysis that uses a RP and WL, and why it is problematic in this case (feel free to offer a better model suited to handle this type of stylistic variation).   
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